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XI-SCI : Maths
Trigonometry - |,

SEAT NO:

DATE:

TIME: 1 Hours 30
Minutes

MARKS: 25

Note:-

1. All Questions are compulsory.
2. Numbers on the right indicate full marks.

Q.1.

Section A
Select and write the correct answer.
1. sin?0 1+ cosf sin @
_ : — equals
1+ cos@ sin 1 —cos@
A) O B) 1
Q) sing D) cos ¢

11
If cosec + cot O = 5 then tan 6 =

21 1
A) — )—5
22 16
44 11
) — D)—7
117 44

Q.2. Answer the following.

Q.3
Q.4

Q.5

Q.6

Q.7

Q.8

1.

2.

3.

Find the trigonometric function of 270°
Find the trigonometric functions of 30°

State the signs of sin 986°

Section B

Attempt any Four

Eliminate @ from the following x = 6 cosec ¢,y = 8 cot §

Prove the following identities.

(cos® A-1) (cot? A+1)= -1

Using table evaluate cos“0 + cos 5 + cos 3
Prove the following :

(1T +tan A x tan B)2 + (tan A - tan B)2 = sec2 A x sec2 B

Prove the following identities :

1

— secl + tané B secl + tanf + 1

1 + secl — tanf sech + tanfh + 1

2
+ cos 5

State the signs of cos 4 and cos 4°. Which of these two functions is greater?

Section C

Attempt any Two

(4)

(3)

(2)
(2)

(2)

(2)

(2)

(2)




Q.9
Q.10

Q.11

Q.12

Q.13

Find the trigonometric function of 315°

Prove the following :

1 + cotfd + cosect B cosec + cotfd — 1
1 — cotf + cosec coth — cosecl -+ 1

Find the trigonometric function of -180°

Section D
Attempt any One

Prove the following :

1\? 1\’ 1 + sin?6
tan ¢ tanf — =2 (—F
(an * COSQ) * (an cos@) (1 — sin20)
m 3T ,
|fQSinA:1:\/§cosBand§ < A< 7T,7 < B < 2m then find the value of

tanA + tanB
cosA — cosB

(3)
(3)

(3)

(4)

(4)



